
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 − 9 =(−2) (−9) − (−8) =(−2)

(−6) + 4 =(−1) (−5) − 5 =(−1)

(−8) − 5 =2 10 − 9 =(−2)

4 − (−4) = 9 + (−9) =(−2)

9 + 8 =2 (−7) − (−6) =(−2)

(−8) + 8 =(−1) 3 − (−1) =(−1)

4 + (−10) =(−1) (−4) + (−2) =

3 + (−4) =2 6 − 1 =2

(−8) + 6 =2 4 + (−7) =2

(−8) + (−9) =2 7 + (−4) =(−1)
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 − 9 = (− ) = (−8 )(−2)

49
440

49
48

(−9) − (−8) = = 8(−2)

81
649

81
1

(−6) + 4 = = 3(−1)

6
23

6
5

(−5) − 5 = (− ) = (−5 )(−1)

5
26

5
1

(−8) − 5 = 592 10 − 9 = (− ) = (−8 )(−2)

100
899

100
99

4 − (−4) = 8 9 + (−9) = (− ) = (−8 )(−2)

81
728

81
80

9 + 8 = 892 (−7) − (−6) = = 6(−2)

49
295

49
1

(−8) + 8 = = 7(−1)

8
63

8
7

3 − (−1) = = 1(−1)

3
4

3
1

4 + (−10) = (− ) = (−9 )(−1)

4
39

4
3

(−4) + (−2) = (−6)

3 + (−4) = 52 6 − 1 = 352

(−8) + 6 = 702 4 + (−7) = 92

(−8) + (−9) = 552 7 + (−4) = (− ) = (−3 )(−1)

7
27

7
6
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